M12 zlo,l (Sgailiw ywed lauall poliall sVgall Junsill Lils alg>

guiioll (009
UL el M12 zlol Jasill LG wsd Tuall poliall 3Ysall Guss Jyrsill Ll
slgo 316 Ixall pslaall 5Ygall
slgi) ol s ol dgiao 810
el o)l wii i el 8 wslbaoll il oo 16 ,lns
1) SF-50
50 * 12mm 30 * 50 , audmMm puuzndl « M12 * 120 eilasisg « gul il
blaall ;o bish bllaall
p2all dgzlsall 2l

2) SF-30 ‘

30 * 10mm 25 * 30 , LSMmM ezl « M8 * 100 clouivg « eigs
bllasl ;o gl bllaoll

clis ‘

guao =) .09l wlllio cuns @i ol oSa)

waias g il sl (08 canis oS
Mol wlllniol 899 dalize juolwo Gullas dguw))

daarall a4zl> )l 4g2lgall

igzlsall gloj cuS

w2z xclai aiuie 36 bai (9 Luwls / ilzll s asbas lazll
cllall a4aS sVl sl ba>lg axlad
ais pladl s slgiYlg 8392 gamill zlio
oo s clio
ol dowd Jrosl) g5 )l aSlaw
30 .ol 321y g0 58 o3 1 835lg aslis S 9 ag2lsall ol 2ol
sl Jpolis azlas inton g, Sl 2>ly

gl wlllbio cun> aisill - .
OME & amp prouaill doas ! 695l

00000 000 000000

00000000 00000000 (1) SF-50 (742 000000 00000g / (0000 - 0000

00000 00 DO0000o Doodo 0o d00ooodo ddtooooo -



http://www.chinabalustrade.com/ae/products/Standoff-bracket.htm

SF-50

00000000 C0 Oioooot Ooooo 0o boodoooo bodooood -



00000000 00000000 (2) SF-30 (0000 - 0000 / 0 245 000000 00000

00000 00 0000000 00000 0o 0dff0to0 oooodddo




glass standoff SFT-30

00000000 C0 Oioooot Ooooo 0o boodoooo bodooood -



000000 00000000 Do00 boo 0oooa 3)



* SF-30
» SF-40 = AISI 304

= 3F-50 =AISI316
= SF-50A

» AISI 304
SF-38Z L Aisi 316

= AISI 304
-
el = AlSI 316

00000000 00000000 00000 Do0o (4)

Parl No. Malenal

Part No. Malerial

Parl No. Malerial

Finish

= Satin
® Mirror

Finish

= Satin
= Mirror

Finish

= Satin
= Mirmor

Body

= 3010; Mp2Smm
* 40%10; 40x30mm
* S50nc12; S0xA0mm
» 50x12; S(xS0mm

Boll size

= M10x120 bolt
= M10xT2 wood screw
o M 100 bolt

o sificon rubber gaskel = M8 x72 wood screw

included

* hollow type
* 18%7.5:38x38mm
= silicon rubber

gasket includad

* 500c10:50:30mm
= gilicon rubbar
gasket included

Boll size |

* MBxT0 hexagonal

screw

Mounting plale size

= 200x100x10mm



Installation for glass standoff

1. Drill holes(approx.11mm)on the concrete first
2. Screw M12 boltintothe hole
3. TightenBintobolt to go against concrete

4. Put one piece rubber pad and washeronto B

Rubber pad

5. Puton glass panels against B, Glass holes will go through the washer
6. Putthe otherrubberpad against glass panel and then tighten A against glass

Installation Finished .

O0000 0000 000 000000







000 0000 Standoff O000000

(000 30 .0000 0O00 0000 000 00 0 bo0oo 00ooo 000 0o boo0oooo Coo0oooo Coor -0000000 - inton (000
000000 0000000 0ot CoDodoo oo -0oo0oto

(0 0000 LO000000 0000 000 0000 20-15 0000000 0000000 00 00000000 000 00000 0ooo 7 -000000 -
000000 000 000oo boo -bodfooo dooodoag

00000 0000 0o 000o 20-15 0000 000 00 booo 7-5 -000000a -










Slele e e e

i it A e

o i —

L] k- b i L
el ‘w“‘-“ i
.. iy

i m s

000000000

Qo000 oo -1
0000 000 0 000

(000000 00000 0ooo 0o -2
.00000 0000 00 Coo ORboo boooooo d0oo O bodooo Ooooo booo boo 0 00o



0000 0o0ooo oo ao -3
316 [ 316 [J 304 00000 000ODOD DOCOODU 0000 COCCOL O Duplex 2205.

4.000 00000 00O 0o 0o
0000000 0000 1 00 0ooodooo 000 Co boo

00000000 00000 Do DO 0o -5
OO0 0000 0O00 T/7T 0 LC 0 .000 O 000000O 000 0 000 oo

(00000 L0000 00 00-6
[0 00000 00000 o000 T/°T 0100 000 030/70 0o L/ € 00000 00

0000000 000 0o 00.7
000000 DOO0 00O Dooo 30 000 Looo S 0o 0o dotoott oo bonoo

0000 00 -8 eem 000000 OCOOOD O 0000 O
000000 00hO0000 00Cttooo Dhoodooo doooo booo boo fog

(00000 00O 00 Looo 0ooo 0o -9

00 0000000 DOodo 0o boodooo Oooo o 0o dddtooo fooo -0dooo Coo e booo 0dco Oco 0 0od
0000 12 0ooo

aood

'0000 000 0000 0o 0000 0ooo 000 -00000 000 0000 0 00000 00 000000000 00
:00000 0000000 0ooo O 0ooo 0000000 ooo

0000000000 0o00oO: sales04@launch-china.cn
-7559 8603 (755-86) [0
-Skype: launch 04

-13530506265-86 + (000000 00 00/ 00



e
E ;":F Doris Dong

Senior Sales Representative

. (86) 135 3050 6265

Lo
e

KEBILF k@’

PRI TR Ll X B9 1L KB 10925 {Z # 3k K B B X 3#55003

Room 5003, Building 3, Yilida Building, No. 1092
Nanshan Road, Nanshan District, Shenzhen, China
postal code 518054

IR E

& (86-755) 8603 7559

= (86-755) 8637 2611

salesO4@launch-china.cn

O www.launch-china.com
www.chinabalustrade.com

7

LAUNCH INTERNATIONAL LIMITED.

T
&
1124
| e
T
i
B
o
=
i
=
LK

[
-
e
o
J
b
J
—
=
=<
o
=
Ll
=
~
=
(Wi}
=
v

BA It [ B




